| Efficiency vs Dxy |

.02
Pad
j®)
@018
>
@016
Q) -
@014
0.012
0.01
0.008
0.006

.......................

eff

.......................

0.004F

...............................................

................................................

0.002:— -------------------------------- R R S S
.QJ-.\.Q:IIII:IIII:IIII:IIII:III; II:IIII:IIII:IIII:IIII
5 | |
e Ll

| SRR R EEE R EEET T T AP T .................................

0.95

550 -15-10

570 510 15 20 25
TP dxy (cm)

| Efficiency vs Dz |

—=— DQM_mkFit_TToriginal
—— DQM_mkFit_TTNEWHS_ALLITERS

nND.02
S

T S
J3) C
o 7| SO OO O
@ C
0012 oo

N

..............

.............................

on S I
%@' L

- 409 3-- 90 -0 - 99 S00E o -

2030
TP dz (cm)




	Contents
	Page 1


